Total number of pages—20 i
. | B17-GM
Subject Code : C2 | | - EN/AS/BN

2017

Full M a rks ' 80

Pass Marks : 2

The figures in the margin indicate full marks
for the questions.

Downloaded from JobAssam m'

22
Take fr——,}— wherever necessary.

22
ATITGS S AR fr—--—7— s

- 22
ETC"T[@M w-ﬂm ?r+~7-7— ey

- Contd.



SECTION-A @ il g

Question numbers 1 to 12 caﬁy 1 mark each. |
NI 1 T ¥ 12 (& RGwT s 1

A 1 (T 12 9T ST gepeE 1

1% The smallest number by which /27 shuuld be muluphﬂd SO

as to get a ratmnal number is :

WIORSIS 31 ROB FRAIE, 27 < =461 3fee <oy f

G AN T

RIS X6 016 T @ /o7 (F 99 FA0E

0T, G’ WA 2 -

@ 27

(b) 3.3

(¢ 3

(d) 3
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Z.F “The number of demmal places after which the decimal

43 .
5% 2 59 will terminate is:

1

expansion :::f the rational number

0 oo e e e e g ARG G 7
LGRS

241353 ‘?fﬁ?.‘ﬂfl Fe2ifog Wit ermreR v 2R AR geq
EAGERISSN G

(@) 3

ero of the polynomial p(x):axg—a(a—l)x—l is 1,
ue of a is : | - S 1

2—3(:.:1—1).:c—1 g 9iI¥ToE 9o a1 2C, aﬁﬂﬂfﬁ :

2 _3(q—1)x -1 To IR0 G <0 1 X0, o WA ZA

) -1
© 2
@ -2
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4. . Which one of the following is not a quadratic equation ? “dle. »Distance of the point P(Q, 3) from X-axis is : . |
O (O fadre R =y E gl - 1 xeome o P2, 3) Regio v 2 -
e @A fagre #Tw=d 72 o
" X-wrd (A P(2, 3) Fiva e 24
(@) (x=2) +1=2x-3
N (@ 2
() x(x+1)+8=(x+2)(x-2)
€ - x(2x+3)=x*+1 ' "B 5
: 3 4 ' |
(@ (x+2) =x"-4 | © 1
UL 5 - BD d) 3
5. In the right triangle ABC, ZA=90 and AD L BC. Then Lol (@) | _ |
| . 1| 7. value of sin®30° —cos?30° is ‘ II
. " BD , . I,
T fage ABC3 £A=90° @i AD L BC | (sfex = sin®30° = cos®30° 9 WM 7T :
- : BD in?30° - cos?30° 4 A TA :
T figer ABCS £A=90° &% AD L BC | 1% 5 = B .
P | e
[ﬁﬂ’_) - % 5
» AB . o (v) @
(b) Zc
ABY? | i i N
. (AB =3
(c) [AD) -
‘ . g 1
' AB d -=
Suwrerat ¢ L2
4 25 _
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8. The angle of depression of an object from the top of a tower | 10." The volume and surface area of a sphere are equal. Diameter

of height 75m is 30°. Then the distance of the object from the of the sphere is : _ 1
foot of the tower is : : i T ——— W SR 0, IR T & -

75@; Y TE 5[ G994 °[l IE @O #iem (I 30° | (O FEHE T (N Twen 9 ADFIRT A Lo (oo T FA
AR 7131 TEEA 79 L

75 . S5 36 Trea Tom (T AT GF TE SRAS @ 307 | OIE ) < s )

TEA AW, (U &7 7Y T (b) 6 units (97F)

(@ 253 m (¢) 2 units (9F9)

.(b) 503 m (d) 4 units (9FF)

(c) ‘75\/'5 m

(d) 150m ' | ' 11. Mean or average of 1, 2, 3, 4, .... nis : 1

1,2, 3,4, .... n TG I T T
9. The area of the CLrCIe that can be inscribed in a square of side " 2

Gem 18 ¢ -~ 1 1, 2, 3, 4, .... n WG A 9T A
6 (B ARRFE asf BT LRI o e SR '?HTWWQ’?I

' n+l
6 1.1, ARME G5 DlCwean qreFETe =M =@ @ SfFe wefed (@ —
FifeT T4
b n=1
(a) 367cm’ (b) 2
(b) - 1r53-‘frcm2 | A © | © %
() 12zcm? b
W
(d) E+1

(d) 9xem?
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12. Which one of the following is ‘thr: probability of an event ?
_ 1

TS B O ARl 2 A
fie @Al o Toa

(@)

- (b) -1-5

(c) 1-001

(d)

SECTION-B

13. Using Euclid’s division algorithm find the HCF of 210 and 55.’

2

$re Rrorem TRl Tegt I/ 210 ¥ 55 7 AT, Seans |

BefEren Fere FhiE 92 @ 210 @R 55 1 AALE [y T | |
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14. "Find the number of terms of the following Arithmetic |
progressions : 2

et fral IR el g oie R Tied
e orewl TR wsifelba b A A (ware

-----

15. Find the ratio in which the y-axis divides the line segment
joining the points (7,3) and (-4,5). Alsr:} [ind the coordinates
of the point of intersection. 2

(7,3) o (—45)ﬁiﬁ“mﬁ?rmywﬁsmvnwmﬁmp.
(RLOR ZPe Tfered] | -

(7,3) 93 (~4,5) Ry AT @

y-or= & SRPATS el |
(e ZEE efa wl) T

5sin@—-3cos0

16. If Stan€=4, ﬁnd the value of . . 2
. | osing+2cosd

5 3

% Stand=4. rz:m‘ﬁ i . T A Bfrean
o98sinf+ 2coslf

. 5 2]

MW Stanld =4 =T, SEE sin0 - 3cos q ﬁq‘n @l

55:?15‘+20050
'|B17-GM (EN/AS/BN) 9]
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1+ sin® Kl—sinﬁ

: T+
L vaé LR 3 Jl—sint‘? V1+sing

i 1+ sind l-sint -
24 A (T o 5 =Assc
l-sind l1+sinf

= 2secl

1+sin@ Jl—sim‘?
..|_.

G 3 K T | I \/ L+ sing

1-siné@

| sin30° +tan 45’ — cosec60°
18. Evaluate : - ; T 2
- sec30 +cosb6H0 +cotdo f

sin30° +tan45" — cosec60’

s e s
sec30° + cos60” +cot45’
e B ~sin 30° +tan45" - cosec60
S see30 +cos60° +cot45”
19. A die is thrown once. Find the _}:;rﬂbability of getting 2

() a prime number

(i)  a number lying between 2 and 6.

qoi Teelt wam st Afded tam
() @b (TS AL

(i) 2 ©F 6 T WG a6 T

(ifRE Fsifael Fefa &1 |
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= 2secl | 2:=1.

Download

" 9D eI 9T @ o
(i) - 9= e AL

(i) 2 SR 6 93 AL GF0 A2
AT JTifel fda @)

ed from Job'Assam.inr

SECTION-C

20. Find the zeros of the following quadratic le}fI‘lei:Eﬂ and verify

the relationship between the zeros and the coefficients. 3
O RS IR XAER TS wiF G2 XFER o TEiEEe e
HoAF Aj A 7] |

oA feire =eimba <fmetsil e et @ax < et qas sriefn wg
T AfeHn el -

6x° -3 -7x

21. Draw the graphs of the cquations S5x-y=5 and 3x-y=3
and. solve the equation with the help of graphs. 3

T Sx -y =5 W% 3x—y =3 I (74 S O (=127 IS T
9! A4 4] | | -

ANF Sx—y =5 G 3x ~y =3 I @GP G=R (147 AR AT
w6 AL 0 | '
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22. Find the roots of the following quadratic equation : T8
o fadre FFEOR o1 W w4
s faars seadiva & W Sl |

2x2—7x+3=_0

-

The sum of the reciprocals of Kuwali’s age (in years) 3 years

23.
- oy A S
ago and S years from now is 3 Find her present age. 3

fefeea =eice TeTR 9% (Ige) dfow wis  fsaiq 7= 5 a2 (7ze
" : gttt p g g
(o83 TR Afeq @A | O I T BfereAl|

7 A o TR TR (IFA) SR G G99 (UF 5 I AR OF
1 Lt '
RO AR QAT | Ol T I99 Fefa T |

Or / 72 / 944!

Is it-possible to design a rectangular park of perimeter 120m

and area 900m>? If so, find its length and breadth.

TPl Q4 PR T STERl A8 qE AR 120/ wiw ifE
900 fF2 ¢ afW HT ; TR WY UF 22 Ted |

GZIF I AACHR T AGEl F 7GR, T AR 1207, G4 FiFH
900 /72 ¢ 4ft & T3, SiEA «fva i @R 27 [T i
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24, '_I‘he sum o.f first 20 terms of an AP is 400 and that -of40 terms
1s 1600. Find the sum of first 10 terms and that of n terms.

3
! FIGT @i el 2051 A st 400 e A 4001 79 @i
1600 | & 1061 I &2 ni #iwa (Al Sijea|

G FAEE daifen @w 207 ot e 400 q3g @s 407 o=
(T 1600 | 22 10/ w3k 219w nfb 7t c@iores fefg 3 |

" Or / 737 / g4t

ab+c) blc+a)
’ a

If a b, ¢ are in A.P, then shoﬁ' that
be - ca

nd

cla+b) _
ab are also in A.P,

a(b+c) b(c+a)
be ' ca

i a, b, c M @sifes Sy (orw (e (T,

c(a+b)
ab

s
¢ WG 2eifow 9z

a(b+c), b(c+a)

c ca

W a, b ¢ T Gsifere A, SigE Hie @
c(a+b) .
ab

G 8 TG #9ifere @iz

25. The perpendicular from A on the side BCof a 4ABC intersects
BC at D such that BD=23CD. Prove that 24B% - 2A4C? + BC?

3

[13]
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26.

27,

B17-GM (EN/AS/BN)

‘and (2, 6).

AABC 3 A9 *{l BC 9 €% S siquits] BC igs D {76 10 TS

BD=3CD | 254 <=1 (¥ 2AB? = 2A¢2 +BC*

AABC 9 A7 (@ BC A ToME UEe &80 BC T@@ D Rl awera
. . 2 2
(% ¥ s BD = 3CD = | &9 W&l (@ 2AB° =2AC” + BC

Find the area of the triangle formed by joining the mid-points
of the sides of the triangle whose vertices are (4,2), (-2, 0)
' 3

4,2), (—2: 0.) T (2, 6) TERT @%ﬁ‘m 9@? ToommE ke
SR (0! IR 9 o <=1 {qeeeR FifE e
4,2), (-2,0) 9 (2,6) TARYeF am sfe fUgwia el

- Rl AR a sie Tgeta s fd @

A chord of a circle of radius 15cm subtends an angl'e of 60°
at the centre. Find the areas of the corresponding minor and

major segments of the circle. [ use 7=3-14 and J3 = 1-73:1)

rlsﬁﬁwﬁq@ﬂm T TE JEBR. S 60° I Beold TR |

I O (T geded Tl Rdg =01 [ 2 =314 W% @:1{73_@1@@@
]

15 (31,5, picda O Jred 93 ol Jelva (FEie 60° & Geor U |
T4 3] (T Feied el e Tt | [ 7 =314 @R V3 =173 TR
| j

[14]
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SECTION-D

28. Solve the following pair of cquations by reducing them to a

pair of linear equations. ° -
O AR TR FNeATaT oltad 5 ey |
0o e Cafdies Teate wolren o St 7| |

5 1 6 3
x-1 y-2 ?

x—1 y—2_

or / % / w3

2 women and 5 men can together finish a work in 4 days,
while 3 women and 6 men can finish it in 3 days. Find the

time taken by 1 woman alone to finish the work, and also that
taken by 1 man alone.

2 & RN I 5 T o[ B 6 4 T o R o1, T i
3 &l 7l Wi 6 T 5 3 Fire o TR #itea | @) AT e
R e g st CT TR I OIF ot o[@0a S o e
FIDT *17 TR 7 Tfeper |

zmmaaaswwa¢EW4ﬁamwm, @I @12
FEiv 3 T wEE G2 6 TF @Y 3 M (17 FACS A7 | G T
AN P M CR PGB 47 TS A1 978 GFem ofgae Gt 77 o o3
I (T T~z [elw )| '
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29.

o el ,

30.

B17-GM (EN/AS/BN)

. equal to the square of the ratio of their corresponding sides. ,

" From the position of a person standing on the bank of a river,

_ elevation becomes 30°.

Prove that, the ratio of the areas of two similar triangles is.

4

a1l <=1 G4, 71 el Ferger W wreire frger Jom B! el I i

el @l ([, 9o A W@WW@W@@WV{?T@
Fsla SRATS A |

Or / izal / a4t - | |

Altitudes AD and CE of AABC interséct‘cach other at.the
point P. Show that '

H

(i) AABD ~ ACBE
(iv) APDC ~ ABEC

(i) - AAEP ~ ACDP
(iii) AAEP ~ AADB
ABC farge@ AD I CE Tafe qeitm 7w P e (& o3 | (Y&l
i .

(i AAEP ~ ACDP
(i) AAEP ~ AADB
ABC fretem AD <R CE % {6 e[ P e (& ¥ | (78 (3
(i) AAEP ~ ACDP (i) AABD ~ ACBE |
(i) AAEP ~ AADB (iv) - APDC ~ ABEC

(i) -AABD ~ ACBE
(iv) APDC ~ ABEC

the angle of elevation of a tree on the opposite bank is 60°.
When the person retreates 20m from the bank, the angle of
Find the height of the tree and the]

4

breadth of the river.

[16]

31.

B17-GM (EN/AS/BN)

| I SR il 93T SIS 7 (2 2 B 2 T SR @ ! AR

MR GEET T (! 60° | T & 7 ART 71 20/7577 Pieaiz g
T T T2 (PG 30° T | 9% e Tl WS TR o2 el
e WA G T AT W@ (A 2N (2 T T @ o
G AT G 2Tz A Gl 60° | W TR~ rw 2025?177
foife com Tafe @S 30° = | st Tl e TEiRE ﬁ.ﬁ‘ﬁﬁtﬁ‘i

Prove that the lengths of t . : ;
: : angents dra ;
point to a circle are equal. 8 wn from an exter_ngi

o B4 (T GO1 AR A g Tl AR ol S
oI Al (o IR, Ao g~ Sl “'Pf"ﬁf\sﬁ'ﬁ?ﬁ?ﬁ A |
Or / 7231 / @1</at

A circle is inscr.ibed in'a AABC having sides 8cm, 10cn
12cm as shown in the following figure. Find AD, BE s;nd CF

am@“‘aiﬁf (YT 4909 AABC I JREBRE I+ i« Uit | 17 AR25R
gﬂ;{i _Si@':r., 10z % 1287 =, (SERE AD, BE 9% CF (6%
e <49 | ‘

s ooy 9o 3¢ 4 ABC 7 31 Sl =i 33 <l | 7% aresata 9
8 I, 1077 32 1205 %, ST AD, BE R CF3 % Fsfa =gl
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From a solid *c:}rlinder whose height is 2-4em and diameter
1-4cm , a conical cavity of the same height and same diameter

is hollowed out. Find the total surface area of the remaining

solid to the nearest cmg. '

2-4 (2. Tl U 1-4(5f7 JERES @6 Gl @@ o[ 96 G
TS W% G R (5T WG (4F fet TFrear 24 | sri¥e iibreEdia
YFIE FEAA wase FHda a1 | | |
2-4 (7[5, Thel ¥3Z 1-4FA RS 9 (il @@\ QA @

39 ' Construct an isosceles triangle whose base is 8 cm and altitude
4cm and then another triangle whose sides are 1% times the °
corresponding sides of the isosceles ;tiangle. Mention the steps
of construction. | R 4
8 (&f. Tf O 4 (zf. Tafe RiFe 9o Az fge a R G @bl
Tew T 41 T[] Aol a2 TS FwfEare faeaniK S@el qred 15 ¢4
o | S GIARR SrEd Al |
8 Gi.f. o @2 471 f. Twoel Rif¥E G TR Mys 9w I
gt farew W A oo a1 Te ik geiba sm T 1564 =
wrE difafE S | it

34. Draw an ogive and the cumulative frequency polygon for the
following {requency distribution by less than method.

ST IR ReTerTs 1) Orets <o eihi< <! W & Wi 31t I
2o I | |

qod TS ROGER (AF OF (AT I AhEd G0 Tize «ag
HEY| RIS 29T S | |

SECTION-E

33 A farmer connects a pipe of internal diameter 20cm from a
canal into a cylindrical tank in his field, which is 10m in
diameter and 2m deep. If water flows through the pipe at the
rate of 3km/h, in how much time will thé tank be filled.

S

0-10[10-20[20-30]30-40]40-50 |50-60
7 10 23 . | * 51 6 3 °

G (AT (OE. e 4l 104 W Wi 277 TEReR @bl (@@
IR (FRITR 75 20 (77, Foo3-<7174 Qe 7% B! i #1979 7R
= fore | 9 3 MR/ §5) TS 2ATZe@ 2l (@ qE (90 CIRIEAORSI
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